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Bogumil HRABAK

KRIVOŠIJE, LEDENICE I UBLI 
FROM THE 16th TO THE 18th CENTURY

The Summary

Basing his findings on archival sources in Kotor, Herceg-Novi, and Dubrovnik, as
well as Venice and Zadar, the author follows the month-to-month activities and lifestyles of
three cattle-breeding communities situated above Risan. Two of these, Ledenice and Ubli,
were settlements of long standing. The third,  Krivošije, was populated by migrants from the
former Ridjani tribe of Montenegro in the wake of the Kandija war.  The population of these
settlements, both old and new, consisted chiefly of livestock breeders who adopted farming
only partially in the 18th century, when they began to rent parcels of land belonging to
Muslims from Klobuk, /	���
�, and Onogošt. These plots, however, were frequently not
cultivated, and rents (hak) not always paid.  Conflicts resulted over attempts to usurp the
land, especially plots in Grahovo. Impoverished breeders practiced a “robbery economy,”
rustling livestock, especially horses, in Konavle and in other places in the Turkish part of
Hercegovina. They also seized girls, whom they took to Montenegro and then sold in
Onogošt. Only the inhabitants of Krivošije and Ledenice cooperated without serious conflict.
On the other hand, they quarreled with others, even with their sometimes allies, Ridjani
clansmen, and Montenegrins, their “instructors” in the art of robbery, whom they themselves
then robbed.  Their victims were the inhabitants of Konavle, Trebinje, Onogošt, and ���5�,
i clansmen.  They fell upon Konavle, attacked livestock and goods in caravans from Onogošt,
and carried away their plunder.  This activity was most pronounced from the third to the sixth
decades of the 18th century.
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